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Recommended hot water treatment of cauliflower seeds before sowing is effective for which
purpose ?

(a) Against soil borne disease (b) Against seed borne disease

(¢) To get vigorous plant growth (d) To get stunted growth of plant

Deficiency of which micro-nutrient leads to interveinal chlorosis in rubber plant ?
(a) B (b) Ca (c) Mg (d) Mn

The biofortified variety ‘Pusa Beta Kesari’ belongs to which crop ?
(a) Potato (b) Cauliflower (c) Sweet potato (d) Watermelon

Which year was declared as International Year of Fruits and Vegetables by the U.N. General
Assembly ?
(a) 2020 (b) 2021 (c) 2022 (d) 2023

Partially defatted coconut is called
(a) Ball copra (b) Milling copra (c) Desiccated coconut  (d) Cup copra

What is the scientific name of Bullrock’s heart (Ramphal) ?
(a) Annona squamosa (b) Annona cherimoya
(c) Annona atemoya (d) Annona reticulata

Saw tooth leaf margins are typical symptoms of deficiency of which nutrient element in
banana ?
(a) Zinc (b) Boron (¢) Phosphorus (d) Iron

Rubber (Hevea braziliensis) thrives better on places where relative humidity remains in
which of the following range ?

(a) 50-60 % (b) 60-65 % (c) 70-75 % (d) More than 80 %
What is the scientific name of Palmyrah Palm ?

(a) Hyoscyamus niger (b) Borassus flabellifer

(c) Plantago ovata (d) Acacia catechu

Mangla, Sumangla and Sree Mangla are the famous varieties of which crop ?
(a) Areca-nut (b) Chestnut (c) Walnut (d) Pecan nut

Bearing profusely, fruits deep orange to pink, average fruit weight 20 g, shape oval and
oblong conical, TSS 20° Brix, aril fragrant, juice 60 percent are the typical example of which
of the following varieties ?

(a) Muzaffarpur  (b) Shahi (¢) Rose scented (d) Calcuttia

Which of the following variety of carrot is a cross between Pusa Kesar and Nantes developed
from IARI, New Delhi ?
(a) PusaJyoti (b) Pusa Meghali (c) Pusa Kusum (d) Pusa Amrgiri

Which one of the following is a gamma rays induced mutant developed by NBRI, Lucknow
from D-5 Chrysanthemum ?
(a) Angel Belle (b) Anjina (¢) Anupam (d) Agni Shikha
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The edible part of Apple is known as
(a) Endocarp (b) Fleshy Thalamus (c) Pericarp (d) Mesocarp

Variety Arka Mridula of guava is a seedling selection of
(a) Red fleshed guava (b) Allahabad safeda
(c) L-49 (d) Apple colour

Anab-e-Shahi variety of grape is pruned to
(a) 2-3 buds/cane (b) 4-5 buds/cane (c) 6-7 buds/cane (d) 8-9 buds/cane

With which element natural rubber is combined to change its property from plastic to elastic ?

(a) Ca (b) Mg (c) P (d) S

Which among the following radish variety can tolerate higher temperature ?

(a) Japanese white (b) White Icicle (c) Scarlet globe (d) Chinese pink
Rosette disorder of pecan nut is due to deficiency of

(a) Nitrogen (b) Boron (¢) Zn (d) Calcium
Which among the following is not used as an index for bunch harvesting of banana ?
(a) Specific gravity (b) Pulp : Peel ratio

(c) Weight : Length ratio (d) Natural shedding of floral remnants
May fire is an early variety of

(a) Peach (b) Plum (¢) Almond (d) Nectarine
Which part of saffron flower is indispensable on accordance of medicinal point of view ?
(a) Root (b) Androecium (¢) Gynoecium (d) Leaf
Coppicing is a general practice in which of the following spice crop ?

(a) Large cardamom (b) Cardamom (small)

(¢) Cinnamon (d) Black pepper

Which is the largest small cardamom producing state ?
(a) Kerala (b) Karnataka (¢) Tamil Nadu (d) Odisha

Jamrosa is a variety of
(a) Palmarosa (b) Patchouli (¢) Rose Geranium (d) Vetiver

In which of the following crops Nutmeg cannot be grown as an intercrop ?
(a) Coconut (b) Clove (c) Areca-nut (d) Apple

Which part of periwinkle plant is useful for curing blood cancer ?
(a) Root (b) Leaves (c) Flower (d) Seeds

Which medicinal plant is effective in controlling chronic diarrhoea and dysentery ?
(a) Isabgol (b) Ashwagandha (c) Guggal (d) Opium poppy
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29. How is the quality of cinnamon quills of grade ‘00000’ considered in the market ?
(a) Coarsest quality (b) Medium quality
(c) Finest quality (d) Do not indicate quality

30. The most vigorous kernel is found in which of the following variety of pecan nut ?

(a) Success (b) Burkett (c) Nellis (d) Mahan
31. Which one is called as king of spices ?

(a) Large cardamom (b) Clove

(c) Black pepper (d) Coriander

32. “Shivalik”, is a variety belongs to which Aromatic plant ?
(a) Lemon-grass (b) Mint (c) Jasmine (d) Patchouli

33. What is the common name of Cymbopogon winterianus ?
(a) Lemon-grass (b) Citronella grass (c¢) Palmarosa grass (d) Mint grass

34. Which among the following is shade loving spice crop ?

(a) Large cardamom (b) Clove
(c) Coriander (d) Cumin
35. What is the principal constituent of essential oil extracted from Oscimum sanctum ?
(a) Anethole (b) Cineole (c) Camphene (d) Eugenol
36. The clove buds are harvested when they begin to turn
(a) Yellow (b) Pink (¢) Red (d) Black
37. Roots of which of the following plants has camphor like aroma ?
(a) Curcuma zerumbet (b) Camelia linn
(¢) Canarium stickum (d) Syzijzium cumini

38. Consider the following statement regarding walnut :
1. It is important temperate nut fruit.
2. Itis sensitive to low temperature during summer.
Give the answer on the basis of above statements.
(a) only 1 is correct. (b) only 2 is correct.
(c) 1is correct and 2 is incorrect. (d) Both 1 and 2 are incorrect.

39. Bunching of leaves at terminal portion of shoot is associated with which disorder ?
(a) Black top (b) Kottai vazahi (¢) Greening (d) Malformation

40. Which state falls under Humid Western Himalayan Region of Agroclimatic Zone
classification of ICAR ?

(a) Uttarakhand  (b) Rajasthan (c) Delhi (d) Uttar Pradesh
o a— , S e e e e e e e NTETTE
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What term is given to highly weathered mineral soils rich in sesquioxides ?
(a) Ultisols (b) Entisols (c) Oxisols (d) Vertisols

Which among the following was not among the traits, Mendel selected for his famous
experiment on pea ?

(a) Round or wrinkled seeds (b) Yellow or green cotyledons
(c) Axial or terminal floral portion (d) Long or short pod length

What it will be referred, when soil water is held at a tension below 1/3 atmosphere ?
(a) Hygroscopic water (b) Capillary water
(c) Gravitational water (d) Drought

Value of the variable which divides total observations in two equal parts is termed as

(a) Mean (b) Median (c) Mode (d) Harmonic mean
Critical stage for irrigation to get maximum tillering in wheat is

(a) Late tillering (b) Late jointing

(c) Flowering (d) Crown root initiation

The highest content of Riboflavin is found in which of the following fruits ?
(a) Mango (b) Guava (c) Papaya (d) Bael

What is primary source of nitrogen for plant nutrition ?
(a) Air (b) Water (c) Fertilizers (d) Soil Microbes

What can be added to soil/water, when irrigation water contains a high concentration of
sodium salts to make it fit for irrigation ?

(a) Sulphuric acid (b) Sulphur (¢) Gypsum (d) Hydrochloric acid

As per the International Classification System, what is the size of silt particles in clay ?
(@) 0.5-025mm (b) 0.25-0.10mm (¢) 0.10—0.05mm (d) <0.002 mm

What is the optimum temperature for mycelial growth of white button mushroom ?
(a) 10-15°C (b) 15-20°C (c) 20-25°C (d) 25-30°C

Which among the following crops should not be grown in the soil/water having the boron
concentration of 2-4 ppm ?

(a) Date palm (b) Onion (c) Lettuce (d) Apple

What is the name given to intergeneric suppression or masking effect of one gene locus on
the expression of another ?

(a) Dominance (b) Epistasis (c) Pleiotropism (d) Atavism

How much amount of Nitrogen a leguminous crop producing 20-25 tonnes of green matter
per ha will add to soil when ploughed under as a green manure ?

(a) 60-90kg.  (b) 100-150kg.  (c) 160-200kg.  (d) 210 - 250 kg.
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54. The discovery of DNA structure was done by

(a) James Watson and Francis Crick (b) Charles David

(¢) Johansen (d) Hugo de Vries
55. How much standing water of irrigated rice cultivation is required ?

(a) 6—-8cm (b) 2—5cm (c) 9—10cm (d) 10—15cm
56. Which of the following contribute to formation of saline soils ?

(a) Drastic weathering (b) Intensive leaching of bases

(c) Restricted drainage (d) Accumulation of organic matter

57. If ‘x’ is the value of yield (kg) observed in different plots and ‘f* is the number of plots, then
what will be the ‘mode’ of the following frequency distribution ?

x: 1 2 3 4 5 6 7 8
f: 4 9 16 30 25 15 21 3

(a) 4.5 (b) 4.0 (c) 153 (d) 15.0
58. In which of the following flowering plant tuberous roots are formed ?
(a) Dahlia (b) Gladiolus (¢) Crossandra (d) Tuberose
59. Mention the garden flower, not native to India
(a) Balsam (b) Azalea (¢) Gomphrena (d) Dianthus
60. The petals of Pansy flower looks like
(a) Butterfly (b) Dog face (c) Cat face (d) Elephant face
61. How many petals are there in one orchid flower ?
(a) Two (b) Three (c) Four (d) Five
62. What is the time of pruning of rose plants in the Northern plains ?
(a) 1% week of March (b) 3" week of March
(c) 1% week of October (d) 3" week of October
63. Japanese and English gardens are examples of which garden style ?
(a) Formal (b) Informal (c) Wild (d) Free
64. Which of the following perennial herbaceous plant is known as Flamingo Lily ?
(a) Anthurium (b) Nymphia (c) Carnation (d) Chrysanthemum
65. Which one of the following is not a white coloured variety of chrysanthemum ?
(a) Kasturba Gandhi (b) Beauty
(¢) Innocence (d) Sonar Bangla

66. Dr. Homi Bhabha, Poornima, Super Star and Happiness are the famous varieties of
(a) Hybrid T-Roses (b) Floribunda Roses (c¢) Tea Roses (d) Grandiflora Roses
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(a) 4.5 (b) 4.0 (c) 153 (d) 15.0
fr=ferfaa § @ fpa oo 19 & S oIS st 8 7

(a) Rferam (b) THfe3ierd (c) shidgI (d) S
TTH T D WA | I STl e g7 T2 8 7

(a) STTEH (b) IASifer (c) TESBAT (d) SRFIE
et et o Ut ford TR o fe@g ¢d & 2

(a) TETHTE 1 TE (b) Tl % & Hl TE

(c) Toceht & sgthiaE (d) Beft o =e 1 e

Teh HTfehg % qo9 # fohe €t (Petal) B1A B ?

@ @& (b) (c) R (d) ==

IR 9N & AT AT 8 T[CTTe o Wit Y hic-Bie & TE I T ?

(a) WTE 1 YW AwTE (b) =T 1 qeft FiE

(c) TR 1 YT T8 (d) SRR T Tl TciTE

ST T ST ST i EH e Tgid % S g ?

(a) =R (b) U= (c) STeft (d) g

I T TEINT I FereR die “wAfe foeiefl” & 9m & S S g 7

(a) Tyfem (b) Ffea (c) I (d) oIS
fferfaa o @ M i TAQEE! i The T1hl fhe T 8 7

(a) TR  (b) S (c) sE=| (d) TR STl

. ST gt e, i, gURR UE gufiad e i fohd SRR < fohe § 7

(a) EEEEA-TT (b) FAINEST U (c) AT (d) TEHTT TS
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71.
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73.

74.

75.

76.

77.

78.

79.

80.

81.

What is ‘Ikebana’ ?

(a) Japanese pattern of gardens.

(b) Japanese art of flower arrangements.
(c) Japanese ornamental pots.

(d) Japanese garden in symmetric pattern.

Which type of chrysanthemum looks like globular ?

(a) Pompon (b) Incurve (c) Anemone (d) Decorative
Which of the following category of roses belong to thornless type ?

(a) Motrea (b) First Red (c) White (d) Grand Gala
Corm dormancy in Gladiolus can be broken by

(a) 2,4-D (b) SADH (c) GA, (d) TAA
Which among the following is not floral preservative ?

(a) Sugar (b) Anti-ethylene compounds

(¢) Acidifying agents (d) NaC/

Who planned the landscape architecture of Chandigarh ?

(a) M.S. Randhawa (b) Maxwell

(c) Corbusier (d) Meyor

Araucaria cookii (Christmas tree) is mainly grown as
(a) Specimen tree (b) Screening (c) Flowering (d) Fruit

In case of formal style of Garden, space, path, form, line, etc. are kept
(a) Geometrical (b) Wild (¢c) Irregular (d) Mixed

Largest family among the flowering plants is
(a) Leguminoceae (b) Moraceae (c) Rosaceae (d) Orchidaceae

A group of plants having straight, unbranched, cylindrical, trunk with a spreading canopy of
huge pinnate leaves is called as

(a) Cycads (b) Pergolians

(c) Cylindrical conifers (d) Palms

The pH value of tender coconut water is
(a) 2.5-35 (b) 3.5-4.5 (c) 48-53 (d) 55-5.6

For which commodity the vacuum cooling method is most suitable ?
(a) Flowers (b) Leafy vegetables (c) Fruits (d) Tuber crops

Botanically, potato is a
(a) Tuberous root (b) Tuberous flower (c) Tuberous fruit (d) Tuberous stem

What is the minimum percent of total soluble solids, that should be present in chutney of
fruits or vegetables ?

(a) 30 (b) 40 (c) 50 (d) 60
Name the principle on which candy is made from fruits or vegetables.

(a) Sun drying (b) Freeze drying

(¢) Osmotic dehydration (d) Hot water treatment
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68.

69.

70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

TGRS FIT & ?

(a) ST T Teh AT ITET (b) TSI 1 T I Teh AT HeAl
(¢) STUTH! Tefrad! are (d) ST ST BT TEEY Y
ToTeT3e! ht i Ft fore e femaredt 8 7

(a) AT (b) el ORSEE (d) ShRfed
Frefafad & @ w1 & TR & Toime hier Aed Jofi 7 3md 8 7

(a) WreRET (b) TR (c) H%g (d) e men
TATESTICTE o hal o] GYTET i G HL o TTC FT FEATSA FoRAT T & 7

(a) 2,4-3 (b) T UE T (c) ST, (d) ETT
TTH T HIF T ST TREThT hT I TR B ?

(a) = (b) T -3siera ANfireh (c) ITrctenish Ml (d) THb
JUENTE ITET o1 YGIY fohe ST o7 7

(a) TH.TE. WET (b)) Hedad (c) FIYRRR (d) TR
ToRemE b1 e (VhRE Hehls) TEIae IR STl &

(a) I & (b) Ghif (c) & (d) ®
ST Seft It I H €M, T, 9 6 134 3cdTie W 914 @ -

(a) ST (b) SATEtt (c) AFfia (d) fufsra
IS ¢ ITet e H T ST FA DA AT ?

(a) AR (b) HRE (c) Torell (d) siched

el o1 a8 wg ek ad T, foeT sRaT o SegAT 92 T 9 TETHT heft Skl S B 6,
(a) TTSHS (b) WA M (c) SATgHI HIAR  (d) IH

AT AT o 9T <1 I T A BT &

(@) 2.5-3.5 (b) 3.5-4.5 (c) 48-53 (d) 5.5-5.6
Trata sfraem fafer frm o @ fopass fore e 3w @ 7

(a) Rl (b) TR TfeT (c) el (d) HEH BT
Tt gf8 F S R ?

(a) HITE SIS (b) SIH B (c) HTE ®A (d) ISE T
&l AT ATl sl Fet H 9 & Y fohaq ufawrd st gomsiiear gered g =nfgy ?

(a) 30 (b) 40 (c) 50 (d) 60

&l T Goolt ohl hel s <hi Tt fopm fogra ot smmafa @ 2

(2) FRATHTOT gRT F@T (b) ftaefiertor gRT @

(c) et fstefieton (d) T U IT=R
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83.

84.
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86.

87.

88.

89.

90.

91.

92.

93.

94.

Synresis is related to which of the following ?
(a) Jam (b) Jelly (c) Marmalade (d) Squash

At what temperature, freezing of fruit juice is carried out ?
(a) 0°Cto-5°C (b) -5°Cto—-10°C (c) -10°Cto—-12°C (d) —-12°Cto-17°C

What among the following can be used to promote ripening of fruits after harvest ?
(a) Cycocel (b) Gibberellic acid (c) Ethrel (d) M.H.

In fruits and vegetables, what method can be used to manage fruit fly after harvest ?
(a) Vapour heat treatment for 6-8 hrs.

(b) Treatment with dithane-M-45

(c) Application of Bavistin @ 0.1%

(d) Application of GA; @ 20 ppm

What is the best temperature for degreening process of fruits after harvest ?
(a) 12°C (b) 17°C (c) 22°C (d) 27°C

Which among the following does not contribute to enhance storage life of onion and garlic ?
(a) High nitrogen doses in field.

(b) Pre-harvest spray of maleic hydrazide

(c) Proper dose of potassium

(d) Withholding irrigation 3 weeks before harvesting

For preparation of frozen peas, what is the temperature for quick freezing process ?

(a) —20°Cto-30°C (b) —18 °C to 20 °C

(¢) -10°Cto—-18°C (d) Zeroto—-10°C

What facilitates lactic acid fermentation method of preserving fruits and vegetables ?
(a) Small amount of salt (b) Small amount of sugar

(¢) Small amount of vinegar (d) Low temperature storage

What is responsible for susceptibility of unrefined coconut oil to rancidity ?
(a) Presence of some amount of moisture.

(b) Free fatty acids.

(¢) Free amino acids.

(d) Presence of some simple sugars.

What is the optimum time to graft root stock of apple for its propagation ?
(a) May — June (b) Jan.— Feb. (¢) Nov.-—Dec. (d) March — April

How long cooking should be done making preserve of fruits or vegetables ?
(a) When further added sugar does not dissolve.

(b) Ten minutes

(c) Atleast 68° Brix TSS is reached

(d) Starts crystal formation

Which vegetable is commercially successful for polyhouse cultivation in lower hills ?
(a) Cauliflower  (b) Onion (¢) Cucumber (d) Spinach

How much relative humidity should be kept for storage of onion and garlic ?
(a) 60% (b) 70% (c) 80% (d) 90%
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82.

83.

84.

8S.

86.

87.

88.

89.

90.

91.

92.

93.

fofam frafefaa o @ feaa geafuq g 2
(a) S| (b) St (c) AW (d) TE

Al oh T bl ITaeATehoT fohl 99 R feRa ST 8 7
(@ 0°CH-5°C (b) -5°CT-10°C (¢c) -10°CE-12°C (d) -12°CE-17°C

TETE o S1G el oh TIFaH o To1C 390 & Tohereht Tt fohart ST wehe 8 7

(a) HEHEA (b) Tefifers 3t () 39 (d) ..
TS o 91¢ Bl U Tfestall § et Haal o Jarwei o foru shia =it fafer semm <6t st wepeft 8 2
(a) 6-8 T dToh ITF ST gRT ITIR (b) ST TH-45 T ITIR

(¢) STFEEEH @ 0.1 T | IU=R (d) ST, @ 20 N.d.wA. ¥ 3=
%ol Sl qSTS o e Tafifa o foru Taiam qrom™ s @ S g 2

(a) 12°C (b) 17°C (¢) 22°C (d) 27°C
3T O forgeh g SIS U9 oggH <hl WUSRUT &THdT o1 sie § Heg Tal fietdl 8 7

(a) @ H ATh T T TIT (b) BfeTsh ERSIE T GeTs I T
(c) TR =1 3faa v (d) TeTE & 3 HwdTg Yd fH=ms Teb &
Het siachierte faf § @i shider o1 arawe wRnaar g ?

(a) —20°C T -30°C (b) —18°C T 20 °C

(c) —10°CT-18 °C (d) IFF-10°C

%ol I Aol o Afaeeh 30T BHETH gRI L& § 1 HEh 8 7

(a) HH THh (b) s =

(c) ¥ TaTen (d) ¥ ATIHH T USRI

3Tafsshd TS at < aTfed / foshd B sl Tafd T R R R 7

(a) TH 61 B AT BT (b) o &1 3FA

(c) g STefiT 37T (d) FS T U BT

T o T % foTT 366 Tig1 T hetH Sie- S Tel THd 1 8 ?

(a) "S- (b) SHERI-HE (c) TamR-feomaR  (d) "E-3T3
%ol 1 Gfesrart o1 frere (qeesT) S o forw ferat ot wehmar =fae 2

(a) TR fiem m A gt (b) 10 fiFe

(c) BT gorsiet et 68° Brix (T a6 (d) Toreeet a1 ey &1

et vaid &1 | uifotersd | SAadTiieh €9 8 Hhadrdas 3T S aTel! gesil i §1 8 7
(2) R (b) @S (c) Em (d) TeTh

. Tl U TTEEH o HUSHY o T fepaeh wmifares smgan gt =gy 7

(a) 60% (b) 70% () 80% (d) 90%
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104.

105.

106.

107.

Which one of the following is not correct on accordance of retarding the process of ripening
of fruits and vegetables ?

(a) Use of proper packaging material (b) High temperature
(c) Skin coating with wax (d) Low temperature

Degreening is commercially practiced in
(a) Banana (b) Orange (c) Mango (d) Guava

The process of removing diseased, damaged or misshaped fruits after harvest is known as
(a) Grading (b) Sorting (c) Selecting (d) Improving

For preservation of Jamun squash, one of the following is used as preservative :
(a) Sodium benzoate @ 0.1% (b) Sodium benzoate @ 0.5%
(c) Potassium metabisulphite @ 0.1% (d) Potassium metabisulphite @ 0.5%

In zero energy cool chamber when outside temperature is 40 °C, the maximum temperature
inside cool chamber never goes beyond the when the relative humidity is 90%.
(a) 20°C (b) 24°C (c) 28°C (d) 32°C

Pusa Deep Sikha variety of mango released from IARI, New Delhi is a cross between

(a) Amrapali x Sensation (b) Amrapali x Alphonso

(¢) Ratna x Janardan Pasand (d) Neelum x Totapari

Which method of precooling is faster ?

(a) Room cooling (b) Forced air cooling

(¢) Hydrocooling (d) Zero energy cooling

Post harvest quality of citrus fruit is increased when root stock is used as

(a) Cleopatra (b) Rough Lemon (¢) Sour Orange (d) Karna Khatta

Which one has higher ethyl evolution rate ?
(a) Kinnow mandarin (b) Lemon
(c) Mango (d) Strawberry

Which among the following is not an essential ingredient for jam and jelly preparation ?
(a) Colour (b) Sugar (¢) Acid (d) Pectin

What is maximum safe temperature of onion curing in the field ?
(a) 22.5°C (b) 27.5°C (c) 32.5°C (d) 37.5°C

The peeling of fruits for processing purpose by use of caustic soda is called as
(a) Shelling (b) Snipping (¢c) Lye peeling (d) Blanching

The fruits which observe sudden upsurge in respiration rate after harvest are called
(a) Non-climacteric fruits (b) Climacteric fruits
(c) Pome fruits (d) Stone fruits
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96.

97.

98.

99.

100.

101.
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104.

10S.

106.

107.

Tl Ue HiesT] shl TRTerIdT shl Ueh fors=reh | ST 6l ST oreft <o & farfr mera @ 2

(a) 3fard YRR BT =T (b) 3T qTIHH
ORIEEIRGEE N (d) 0 qIHH

fefifm sameraTies v ot 3w fore W & ?

(a) hefl (b) @ (c) 3™ (d) 3mEe
TESTE Uv=Td T, 3¢-He Ud he § Hadl hi 31T Shid i o1 gl ST & 7

(a) FfeT (b) itén (c) == (d) Fmfem
ST h SHATST 3hl TEIT o foTe fmfetfaa ® © e ST femer ST &

(a) Af$IT I=IUE @ 0.1 Ffcsrd (b) TIfETm I=Te @ 0.5 Tl

(c) TRy AeETsEehEe @ 0.1 Ifasrd (d) T AeEsaesEe @ 0.5 gfawd

ST TSI et <R H STed aT9HH 56 40 °C 81 T8 el <R oh 3T7CL T STTehad qra HHl
i H S T T 2 ; A S AT 90% & |

(a) 20°C (b) 24°C (c) 28°C (d) 32°C
g &1 o, 31T B STt e S ST e, 7 Rl & fema 18 3 < e demr
(a) AT x HH (b) STTHUTEA x TR

(¢) T x TG 98 (d) Frem x qramTd

e Sficer e b f B R 7

(a) I I 3ST HET (b) s Iy Side

(c) ETESIHRA (d) SR Tl e

HH U goig=d & et ®ell § JoTs W= 7ol & gfg Bt 3 ?

(a) faamg (b) T oH (c) @A At (d) =l T
FreforRad o @ fopgeh! SUTEe SATGRM ot AU B ?

(a) fr=ra=ia  (b) o (c) 3™ (d) &isl
I TE Siedt I o e f 1 9 o a1 s1fiere seme g @

(a) T (b) =it (c) 3= (d) ufere
@IS <t TitgerErdT (RIFT) % foru srféreran gefera aaum s g R ?

(a) 22.5°C (b) 27.5°C (c) 32.5°C (d) 37.5°C
SHIfEeeh HIST o ITANT | THEHUT 323 o foTT Betl Sl BietT F1 HaelTdl & 7

(a) e (b) et (c) e diferm (d) st
3 ot 1 GSTS ITITd Yo <X H M Jfig gl &, 32 el a1 s -

(a) S-FATSHH I BeA (b) FATSHHH BeA

(c) UM ®e (d) RH B
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117.

118.

119.

120.

Pomegranate fruits can be stored for how many days, without compromising quality ?
(a) 7-14 days (b) 14 —25 days (c) 30-—45 days (d) 45-60 days

There are holes in the corrugated fibre boxes, the purpose of keeping holes in such boxes is
(a) To keep a watch on condition of fruits.

(b) Fruit nutrition does not get destroyed.

(c¢) To increase the fat content of fruits during storage.

(d) To maintain air exchange for respiration of fruits.

The maturity of which fruit can be judged by tapping ?

(a) Banana (b) Watermelon (c) Mango (d) Citrus

We can judge the maturity of which of the following fruit on the basis of netting on peel ?
(a) Pear (b) Muskmelon (c) Jackfruit (d) Papaya
Which type of fruits are generally used for preparation of marmalade ?

(a) Pome fruits (b) Citrus fruits (c) Stone fruits (d) Nut fruits
What dose of gamma radiation is recommended for checking sprouting of onion ?
(a) 0.06-0.1 KGy (b) 0.60—1.00 KGy

(c) 6.00-10.00 KGy (d) 10.00-12.00 KGy

Out of the following which is maturity index of jackfruit ?

(a) Specific gravity(b) Aroma (¢) Sugar (d) Starch index
Date palm is commercially propagated through

(a) Offset (b) Stolon (¢) Runner (d) Sucker
What is the height of plastic low tunnels ?

(@) 0.50mto 0.75 m (b) 0.75mto 1.00 m

(c) 1.00mto 1.50 m (d) 1.50 m to 2.00 m

Which among the following is known as ‘Star Cactus’ ?
(a) Aloe (b) Agave (c) Astrophytum (d) Sedum

Deficiency of which micro nutrient causes calyx splitting and abnormal opening of flower
break in carnation ?

(a) Boron (b) Calcium (¢c) Sulphur (d) Zinc

Which among following flower plants has comparatively high water requirement ?
(a) Bird’s paradise (b) Dahlia (¢) Gladiolus (d) Jasmine

Micropropagation is commercially practiced in which of the following plants ?
(a) Rose (b) Marigold (c) Gerbera (d) Jasmine
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109.

110.

111.

112.

113.

114.

115.

116.

117.

118.

TR <1 YU, Tl oh T[UTarT o SoTel FHferd fopd farm foha ferfi e fepen Swepan @ 7
(a) 7—14fe (b) 14-25fea (c) 30-—45fe (d) 45— 60fea
HITICE FIEH d1E § el i fesmeidt 7q feeai # foog i eeen i i At 2 7

(a) hell Sl GRIT ShT STAATeh fohdT ST Toh

(b) ell % IS awd A8 7 &l

(c) WUSHU < GH %l H 98T <! U1 §¢H &g

(d) Wl o var fora B 1Y 1 HATEH-YeH &1

Torg a1 <A1 IR eeIdT AT UdT 38 %l Sl YUIT H TR ST FehdT & 7

(a) el (b) T (c) ™ (d) g arfta
Frefefiaa o @ fora wet <t Titaserdn =61 71 36 oot & W AT & AR WA & ?
(a) T (b) @IS (c) =g (d) Tt

AR T AHGIE S 2 Fh8 TR 3 Hell b1 S=NT fehal ATan & 7

(a) 9 A (b) i afia bt (c) WH®A (d) e

TS o el ol TP & ST oh foIQ 71T Fehtott <6t i €t W1 BT STHIGH feRam STt 8 2
(a) 0.06—0.1 KGy (b) 0.60 —1.00 KGy

(¢) 6.00—10.00 KGy (d) 10.00 — 12.00 KGy

FrfeTRad H | SH hegd o Bl Sl THUFAT YD & 7

(a) AR oI (b) 7™ (c) HamH (d) wTE I
T I AR §9 | Fafia feren smar g :

(a) ATHECG  (b) WIed gl (c) TR (d) TR
AT Al A <hl TS fohart Tt STt & 7

(a) 0.50 . ¥ 0.75 . (b) 0.75 .3 1.00 .

(¢) 1.00 7. 9 1.50 =ft. (d) 1.50 . & 2.00 .

3 9 forll R heed & AW 8 AET A1 8 7

(a) Tl (b) ¥ (c) TEIHEH (d) Hew

HHIHA T STRIG Y1 ol BedT F ST €9 8 T80 1 Rgern fhd e diveh-aw &1 it &
HRU 18 7

(a) &A (b) Hicaaw (c) TeH COREES

. T 3 fopm ot Tt Y 3TiETeRa STfe STt STTavEehdl B B 7

(a) TSRS (b) safern (c) Tife3Ter™ (d) =i

. ST 9 forg Ti9 o gew -Haed sl AT T W SR R S g 7

(a) T (b) T () T (@
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127.

128.

129.

130.

131.

132.

133.

134.

Bougainvillea is commercially propagated by

(a) Soft wood cutting (b) Air layering

(c) Tissue culture (d) Hard wood cutting

Which fresh crop contributes maximum to the export among vegetables from India ?

(a) Green chilli (b) Onion (¢) Okra (d) Brinjal
According to FAO (2021) which country is the largest producer of papaya in the world ?
(a) India (b) China (c) Brazil (d) Iran

June budding is famous in which of the following fruit crop ?

(a) Bael (b) Guava (c) Papaya (d) Jackfruit
Which cucurbit crop has longest shelf life ?

(a) Bitter gourd (b) Ash gourd (c) Bottle gourd (d) Snake gourd

Black more, Tutle 16, Tutle 31, German seedling and Xenia are the commercial varieties of
(a) Pecan nut (b) Walnut (¢) Chestnut (d) Pistachio nut

According to FAO (2021), India is the largest producer of which vegetable crop ?

(a) Potato (b) Okra (c) Brinjal (d) Cauliflower
What is a major disease of nursery of vegetable crops in hot and humid summer ?
(a) Blight (b) Verticillium wilt (c) Damping off (d) Collar rot
Indian Institute of Vegetable Research is located at

(a) New Delhi (b) Varanasi (c¢) Bengaluru (d) Chennai
Amorphophallus belongs to which group of crops ?

(a) Rhizomatous crops (b) Bulbous crops

(c) Plantation crops (d) Tuber crops

In which fruit, abscisic acid does not cause dormancy in its seeds ?

(a) Apple (b) Pear (c) Papaya (d) Walnut

Nucellar seedlings are common in which of the following fruit plants ?

(a) Citrus (b) Bael (¢) Loquat (d) Phalsa

Which of the following propagation structure is used for rooting of cuttings during winter ?
(a) Green house (b) Hot bed (¢) Cold frame (d) Mist chamber
Dwarfing root stock of Ber is

(a) Zizyphus nummularia (b) Zizyphus rotundifolia

(c) Zizyphus mauritiana (d) Zizyphus acuminata
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121. SAFETR dR R SPFAART &1 Yot forg TR fram smar g 7
(a) TR IS HIET (b) TR T (c) S HaE" (d) & g Hfem

122. 9 € qrSfl Heol o1 WA © G 3Tfreh faia fpan Sran g 2

(a) &0 fird (b) = (c) Pt (d) s
123. TH.T.3W. (2021) % JFER D &1 < forva ® qefia 1 A iferen Ieqme an g 7

(a) W (b) = () SiTftet (d) S
124, Fr=forfiga 3 & oW @ wet 09 o o sfén ufrg B 2

(a) o (b) FmES (c) Teftan (d) HeE
125. Tora pentfere wEeT & et 1 WUSRUT &9al §ed AT 7 7

(a) e (b) U3 (c) weht (d) = e (fafwen)
126. &% 91, e 16, et 31, A digfer wa Sifrn smawnfes seifo & -

(a) dishe (b) @ (c) =R (d) forefaae
127. TH.T.3W. (2021) % JTHR TRA TohE Hesll 1 T §ST IcITEH ¢ 8 7

(a) 3], (b) Pt (c) s (d) Eermt
128. T wd 71 IfSH T FieTAT o FieTer™ 1 Ueh TE W HH A1 8 ?

(a) TS (b) adifaferm faee  (c) S 3w (d) HIR T
129. WA e STgEIH T fm 2 -

(a) 8 feoett (b) ITROTE (c) STeIE (d) =18

130. THTHIheTd B o fohd THE W ST 8 7
(a) Tehd! HHA (b) YehheT BEA  (c) U BHA (d) HEH BEA

131. TorE wet & il o UeEfifire 37re1, GUTATEET 1 vl & Bla1 & 7

(a) B9 (b) TSIt (c) TdtaT (d) 3@
132. T1eRd W & fohd BoTgR Wil § &R WY ATHT=IET 9 1d 8 7

(a) gt (b) s (c) SHIE (d) wTeTEn
133. Fm=faRad o @ %9 it yad= gt=m1 I7Re g o o i I e 7 M HI S R 2

(a) WA ERA (b) T ST (c) BSTTHA (d) gaHa
134, TSI HIH | ST Geie @ ?

(a) THfSwE Teifen (b) Toifsrea TeSiwiferan

(c) Terfsrwe Afse (d) TfsTee Tepfirer
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Polyembryony is common in
(a) Guava (b) Mango (c) Bael (d) Sapota
Out of following propagation techniques which one is suitable for top working ?

(a) Side grafting (b) Tongue grafting (c) Cleft grafting (d) Veneer grafting

What is the easiest method of propagation of cashew nut ?
(a) Seed (b) Cutting (c) Airlayering (d) Budding
Depending upon the ventilation how much temperature difference is found between inside

and outside air of polyhouse ?
(a) 0°Cto5°C (b) 5°Cto10°C (c) 10°Cto15°C  (d) 15°Cto20°C

Which among the following plant is not suitable for making Bonsai ?
(a) Bougainvillea (b) Azalea (c¢) Rosa indica (d) Malus pumila

Taj Mahal Garden at Agra is decorated as per
(a) Japanese garden (b) Mughal garden
(c) English garden (d) French garden

Chinese and Japanese gardens belong to which style of gardening ?
(a) Formal (b) Informal (c) Free (d) Wild

The common colour of petals of Bird of Paradise Flower is
(a) Pink (b) White (c) Violet (d) Yellow

Which vegetable has highest rate of respiration among the following ?
(a) Beetroot (b) Potato (c) Peas (d) Garlic

Pant Uphar is a variety of which crop ?
(a) Garden Pea (b) Tomato (c) Cauliflower (d) Cabbage

Which one is called Paper Flower ?
(a) Pansy (b) Helichrysum (c) Petunia (d) Portulaca

The genetic variants of specific enzymes which can be identified by biochemical tests and
used as genetic markers are called as

(a) Isolate (b) Isologous (c) Isozymes (d) Invertase

Shoot bark of dwarfing apple root stock contains higher concentration of which of the
hormone than the vigorous root stock ?

(a) ABA (b) IAA (©) GA, (d) Cytokinin

Incompatibility of Bartlett cultivar of pear to Quince root stock can be removed by
(a) Keeping grafting 25 cm height (b) Old Hume interstock
(c) Application of Auxin @ 100 ppm (d) Use of Bordeaux paste in the trunk
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Wm%:
(a) IECH (b) IAMH (c) S d (d) b

frferiga s faferi o @ i ot ofid %0l & forg swE @ 7

(a) ud mifeem  (b) Sfigan mfee (c) BTeh U (d) =ffer mfee
1o % JaEH Sl TWeaad [ s 8 7

(a) & (b) s (c) TSI (d) == F@HT
1Y HATETTHA o IR T ATAETSY o 3T T STeT g1 o A9 § foha1 ST g 8 7
(@ 0°CE5°C (b) 5°CT10°C (¢) 10°CH15°C  (d) 15°CH20°C

frferfiaa o @ 61 |1 dien SaTg s < fofe Suge T & 7

(a) SFEfIfRT (b) 3rifoRn (c) ST 3fegeht (d) Herd ogfiren
3T T TG e fohd bR & ganferd feram mm g

(a) SOFIMET  (b) TITeT A (c) SfrersrmeA (d) Tha TS
=t T AT 3EE St Y At w7 2

(a) 3T (b) 3RS (c) T (d) I

S 3T WISTSS IS o Ueet ST AT T HET T @ ?

(2) Tt (b) &g, (c) SR (d) e
frferiaa § & forer wuet ot o o @aiiees gl 2 ?

(a) Ih<T (b) 3T (c) A (d) <t&gd
U= SUEH fohd ®Ect 1 Tk foremr B 7

(a) st 7 (b) THTR (c) Reredt (d) et
3T O Tl TR FeATeR S TH & A & 7

(a) =l (b) ®efishrsam (c) forgfram (d) Tt

T fIfTe IERe o TR TR [T St -TEmie TWieo gRI Tga S STafTeh Heh
& ®Y T ITANT feran S Hoh, 32 R hed & 7
(a) eI (b) FATEEATE (c) SATHISITEH (d) 3=

¥ % Y e b o 1 BT § R gerg 1 e frefafiaa § @ B an i st
qIaTg ?

(a) TsHIfG® 3T (b) R, (c) Toafifes s (d) TTsaeEtA
RIS AT 31 o T Tefep o Wi Mferrehan frfetiiga o & fopm fafa gro qraht st @ 2
(a) 25 0.1, STE T Hetd HET (b) 3TcE gH X Wih

(¢) 100 Hdfium AT 7 T2 (d) = T SE UL BT TINT
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149. Watermelon can be grafted on
(a) Tomato (b) Brinjal (c) Bottle-gourd (d) Okra

150. The most vigorous root stock of citrus fruits is
(a) Sourorange (b) Trifoliate orange (c) Jatti Khatti (d) Rough lemon

151. Kinnow is a cross between
(a) Cleopatra x Nagpur Mandarin (b) King x Willow Leaf Mandarin
(¢) Mosambi x Pant Lemon 1 (d) Kagzi x Blood Red

152. At present, which state of the country is leading in fruit production ?
(a) Andhra Pradesh(b) Uttar Pradesh (¢) Maharashtra (d) Karnataka

153. Which state of the country is leading in Banana production during 2022-23 ?
(a) Uttar Pradesh (b) Andhra Pradesh (c¢) Tamil Nadu (d) Maharashtra

154. Which state of the country is leading in vegetable production during 2022-23 ?
(a) West Bengal (b) Uttar Pradesh (c) Maharashtra (d) Andhra Pradesh

155. Tas-e-Ganesh, Manik Chaman and Sonaka are the clones of grape variety
(a) Bangalore Blue (b) Thompson Seedless
(¢) Anab-e-Shahi (d) Pusa Seedless

156. The highest content of iron is found in which of the following fruits ?
(a) Ber (b) Karonda (c) Aonla (d) Grape

157. The highest content of Vitamin ‘A’ is found in which of the following fruits ?
(a) Guava (b) Mango (c) Apricot (d) Apple

158. The highest amount of antioxidant is found in which of the following fruit juice ?
(a) Pomegranate (b) Aonla (c) Bael (d) Karonda

159. In which of the following annuals two petals are broad whereas another two petals are small
in a single flower ?

(a) Sweet alyssum (b) Candytuft (c) Verbena (d) Acroclinum
160. The flavour of Adenocalyma allysium leaves resembles to
(a) Lime (b) Garlic (c) Apple (d) Mango
161. The most commonly used medicinal plant having gel like content in its leaf is known as
(a) Manihot esculenta (b) Tinosphora cordifolia
(c) Aloe vera (d) Mimosa pudica

162. Which is the leading state of the country in production of Almond fruits ?
(a) Uttarakhand  (b) Himachal Pradesh (c) Manipur (d) Jammu & Kashmir
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e o Freferiaa & & fope W ame fopen ST b 2 7

(a) THTEX (b) ST ORSIE (d) firh
+fiq afia et o1 Tad T et 2 -

(a) WRTART  (b) TERIEE WS (c) e W (d) T eHd
form1 TongrenT dehtuT 2 7

(a) ﬁﬁﬁ@x‘lﬂﬂ'{aﬁ (b) T x fareett ofi Hefm

(c) TG x Id oo 1 (d) SIS x &8 18

FAH T I 91 T e H Bl IcqTed H JUH T W R ?

(a) 3T (b) ITATI (c) WEWTY (d) e
I8 2022-23 T € 1 I E1 T3 hedl 3T § e T @2 ?

(a) I (b) 3% T (c) dftremTg (d) WERTY
0 T I T T3 Fosfl IcqTed § 2022-23 HAlg @ e ?

(a) UTEmETE  (b) STAWCW (c) HERIY (d) ST

ATH-T~TT013, (b T TS FIHThT 3R IATH HFAA T |
(a) STAR & (b) UTEA e (c) IEE-T-WE  (d) Y Hee™

frfafiga 9 9 forg wa1 1 g < o9 S1fes TR AT g 7

(a) & (b) hiler (c) Ataen (d) 3R
g & & fre wa § frerfie <A’ Taifes e ST R 7

(a) &S (b) 3™ (c) Gam (d) &9
frferfiaa & & fope et & S | T T - 3N ded T ST 8 ?

(a) 3R (b) JtereT (c) st (d) e
frefeiad T N A FFa M F U I A A R E A AR TR TS 7
(a) SCTATEH  (b) HSRE (c) ol (d) TphlerTTSTH
TfeTh o TefTem et 61 g e et -erd 2 7

(a) i (b) G (c) &S (d) 3™

TG T2 foran ST aren st dien fres oxft 9 St h g 9 99 S |
HEd ¢ |

(a) BIETE Spet=el (b) TR IR

ORI (d) forren gfew

STETT IcATe 8§ <91 H hIF 1 eI A @2 7

(a) STTETS (b) Temmeret wem (c) =TT (d) S Td Heeit
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In Uttrakhand, which root stock is generally used for top working and frame working of pear
trees ?

(a) Prunus persica (b) Prunus domestica (c¢) Pyrus pashia (d) Prunus amygdalus

Juicy placental hairs comprise the edible portion of which of the fruit ?
(a) Blue berry (b) Quince (c) Pineapple (d) Oranges

A condition in which flowers never open before anthesis. The pollens are shed within closed
flowers leading to self-pollination.

(a) Homogamy (b) Cleistogamy (c) Chasmogamy (d) Protogyny

Sioux House Russet, Gale Gala, Red Gold and Golden spur are the varieties of

(a) Peach (b) Apple (c) Nectarine (d) Plum

Manjari Medica, Manjari Naveen and Arka Rajhans are the varieties of

(a) Gauva (b) Sapota (c) Grapes (d) Passion fruit
Which crop is used to extract pyrethrin ?

(a) Chrysanthemum (b) Mustard

(c) Marigold (d) Turmeric

How much time coconut takes to ripe from the opening of inflorescence ?

(a) 6-7 months (b) 2-3 months (¢) 12-13 months (d) 15-20 months
Judicious removal of plant parts to develop a proper shape of plant capable of bearing heavy

crop load is called as

(a) Training (b) Pruning (c) Pinching (d) Disbudding
Vector through which bunchy top virus of banana is transmitted

(a) Mealy bug (b) White fly (c) Thrips (d) Aphids

The root stock that can be used to enhance maturity of Kinnow Mandarin is

(a) Troyer citrange (b) Lime (¢) Karna Khatta (d) Trifoliate orange
Alison, Hayward, Monty, Bruno, Tomuri and Abott are the varieties of

(a) Nectarine fruit (b) Strawberry fruit (c¢) Kiwifruit (d) Olive fruit
“Satputia” is a variety of which crop ?

(a) Sponge gourd (b) Ridge gourd (c) Bottle-gourd (d) Bitter-gourd
What is the edible part of globe artichoke ?

(a) Tender pods (b) Young flowers

(¢) Immature inflorescence (d) Unopened flower bud

How much time bael fruits require from fruit set upto full (physiologically) mature stage ?

(a) Four months (b) Eight months (¢) Ten months (d) Twelve months
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ITREUE H 19Tt shl 21a ikt Tfshan ual o ofsht Ufsham § s 91 &¢ Teieh T hid & 7
OB GRIGE] (b) Y79 SHfEeH (c) UTSTH Uf¥mT (d) 79 ufirder®
fore %o 4 35k T8 W SISTESEH 93 @R 91d & 7

(a) L=l (b) o (c) I~ (d) @

TIATT Sh1 gE ST %ot o Gord 8 Ugel & T Hehat 3T Qi STl Bl S 5 1 hEd & |
(a) BT GETE (b)) fFereemd (c) = (d) TenmE
3T B18E We, e e, 8 Ties TE Tieed TR e 8 :

(a) 3Tg (b) & (c) "t (d) ST
ot Bfeeht, BTl Tl TS 37hT TroTed ST @ -

(a) ¥HEC (b) <% (c) 3K (d) 9 et
TRV 1 R wee & i fe s @ 2

(a) ToTETSEl (b) wEl (c) et (d) gl

IS TG o Raei & oioht IRTad §iH H foha 1 90T &A1 & 7
(a) B:HHAHE  (b) & H A HE (c) TEHAEHE () TsE ¥ <1 71g

Tie o 3T <] =AETT dlieh H 3T hich 3 3[4k el YR ohl T84 A I Tsh T@l 3R
aﬁaﬁwsﬂ?ﬂ%

(a) ¢ (b) S (c) fifem (d) fegafen

hel hl HES H F=t 21T 93T ohl ITEh & -

(a) foreft sm (b) Hhe Herell (c) form (d) TfhgE

Top] Aeefi <t st aftderIdT i ST ¢ a1l & Wi &

(@) gmfads  (b) @A (c) HET T (d) ZTEHIfIEE FA
(a) FA B (b) =il Bt (c) It v (d) S ®e
Tl 37 9 FohE HEe % T fFE E 7

(a) q% (b) TEER T (c) wirhl (d) whta

TS ST 1 @R S o7 feE T A e ?

(a) YT i (b) 73 (c) 3Hferehfeid goaT=s (d) T fareht et

. el S T TRt I ST TS o foTe quf &9 | uftdad g9 8 foha1 gma sman g 7

(a) IRHTE (b) 371e =R (c) THHE (d) SWE T8
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The estimated Horticultural crop production of India during 2022-23 is

(a) 310.27 Million ton (b) 350.87 Million ton

(c) 340.50 Million ton (d) 450.67 Million ton

Which among the following is not a bulbous plant ?

(a) Lily (b) Narcissus (c) Tulip (d) Canna
In which fruit India does not rank first in production ?

(a) Banana (b) Mango (c) Grape (d) Guava

Tick the correct answer, for iron content in fruits in descending order.
(a) Karonda — Cashew nut — Date palm — Walnut
(b) Karonda — Date palm — Cashew nut — Walnut
(¢) Cashew nut — Karonda — Date palm — Walnut
(d) Date palm — Karonda — Cashew nut — Walnut

Which one is correct in relation to vitamin C content of fruits in ascending order ?
(a) Lime — Guava — Aonla — Barbados cherry
(b) Gauva — Barbados cherry — Aonla — Lime
(¢) Aonla— Guava — Barbados cherry — Lime
(d) Barbados cherry — Guava — Lime — Aonla

Phyllocnistis citrella is the scientific name of
(a) Citrus psylla (b) Leaf miner (c) White fly (d) Lemon Butterfly

In guava, yellowing and browning of leaves from twig tip, leaves die off causing cracking
in twigs and trunk leading to decline of entire tree; are the symptoms of

(a) Anthracnose (b) Pink disease (c) Canker (d) Wilt
Which of the following is a dioecious fruit crop ?
(a) Pecan nut (b) Walnut (¢) Chestnut (d) Kiwifruit

Stem painting with Bordeaux paste is usually done in which fruit plant to prevent
phytophthora rot disease ?
(a) Banana (b) Citrus (¢) Guava (d) Rubber plant

Based on growing period and climatological types, India is categorized into how many agro-
ecological regions ?

(a) 12 (b) 21 (c) 31 (d) 41

Which of the following is a least stone weight hybrid of mango ?

(a) Ratna (b) Sindhu (c) Pusa Pitamber (d) Pusa Arunima
Which among the following is diploid variety of banana although it is seedless ?

(a) Nendran (b) Elakki (¢) Robusta (d) Grand Naine
Mango variety Pusa Manobhari is a cross between

(a) Amrapali x Lal Sundari (b) Amrapali x Sensation

(c) Mallika x Alphonso (d) Amrapali x Ratna

Equilateral triangle system of orchard planting can accommodate 15 percent more plants
than the system of planting.

(a) Hexagonal system (b) Quincunx system

(c) Square system
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TN 2022-23 H WRA T SFTFATHT SHETH-h B IATE @ :

(a) 310.27 faferm <= (b) 350.87 fferem 2o

(c) 340.50 faferm 2o (d) 450.67 fafersm e

freforfaa o & =19 1 S1eek ohe <t Joft § 7 ST R 7

(a) foreht (b) riEEw (c) gferm (d) o
ford et & IcdTeH T WA JUH TYH WAL 8 7

(a) hell (b) 3™ (c) IR (d) 3rEe
Al H o8 dcd o Hed 0 o Tal ITL 1 T hITT |

(a) hiigT — IS, — @ — IT@ (b) HTTET — B — 19 — ITWI
(c) N — gl — @R — 3T (d) T — el — I — 3@

fererftm <o & Heferd wet o agd S SHH 1 I A1 HT TET B ?

(a) g — 3mEe — AT —IRFEF R (b) IHES — TRASH = — AT — g

(c) ATTET — 3THEG — TR o — g (d) TRISH = — IHEE — g — Taen
HIgAlferfe fage Sefes A 2 -

(a) Tog@ feen  (b) ofiw AR (c) Hibe HarE (d) g fereeft

&S | Tl o ol & a1 dielt ueT 3R 0 BT, ufei <1 g@ S, T8l ot ey
T BT FTEd 0 U 78 8 9 ; e fiurd & e g 2

(a) THHIS (b) Tetreft siaTd (c) et (d) feree
frerferfiad o @ % @1 %o eEERrE AT R 7

(a) Hiehe (b) @ (c) =R (d) FEft B

I Y Bed H BTSRRI e SR & o= o foT I Si€] 9% o1 591 o1 U & fIu s 8 2
(a) shefl (b) faga (c) &G (d) TR

iz STaftr Te e TR 3 SR R TRA 1 Rha Sy -ttt & § st mn d ¢
(a) 12 (b) 21 (c) 31 (d) 41

3T <6 I TRt 2 T =ad 9 eef Bt 2 7

(a) T (b) T (c) T s (d) T SrEfor
frforfiad & & %t 5t B € wfa R 2 gu sderfa B R 2

(a) JgH (b) gl (c) TS (d) Fe

31T <61 @ wred gt fepeeh e B HRtT R 2

(a) STTHUTEA x AT Gradl (b) TTHUTEAT x T=TEH

(c) HfceTeh! x Tl (d) JTTHIATEAT x T

. THE i B vgfa % am # 15 vfhwra s de 1 3TeT FETETa B |

(a) WYSIThR YUTTet(b) Toraend (c) SHTTRT JUTTeAt (d) TIATHI JOTTeA!

AHB-IIH 29 - Series-A



191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

Which among the following is correct formulae of measuring the area of equihexagon ?

(a) 3x~3S72  (b) 5x382 (c) 4x[3S82 (d) 6x+/3872

Papaya hybrid Arka Surya is a cross between
(a) Pink Fleshed Sweet x Pusa Dwarf (b) Sun Rise Solo x Barwani Red
(¢) Sun Rise Solo x Pink Fleshed Sweet (d) Pusa Delicious x Sun Rise Solo

The criteria of essentiality of the nutrient for higher plants was given by whom ?

(a) Allen and Arnon (1955) (b) Maxie and Sommer (1971)

(¢) Namo and Amidani (1999) (d) Smith and Cristopher (1951)

The earliest variety of mango of North India is

(a) Dashehari (b) Bombay Green (c) Gaurjeet (d) Banarasi Langra
Popular variety of sapota in Maharashtra, Gujarat, North Karnataka known for dark green
leaves, oval, less seeded fruits is

(a) CricketBall  (b) Chhatri (c) Pala (d) Kali Putti
Browning of heads in Broccoli occurs due to

(a) P-deficiency (b) B-deficiency (¢) K-deficiency (d) B-toxicity

Match the List — 1 with List — 2 :
List—1 List — 2
(Vegetable) (Variety)
A. Drumstick 1. Godavari
B. French bean 2. PKM-1
C. Garlic 3. Arka Rajhans
D. Muskmelon 4. Pant Anupama
A B C D
(a 1 2 3 4
(b 2 4 1 3
(c) 4 3 1 2
(d 2 3 4 1
Which type of pollination occurs in Petunia ?
(a) Self-pollination (b) Often cross-pollination
(¢) Cross-pollination (d) Often self-pollination
Which among the following is a round fruited variety of Brinjal ?
(a) Azad Kranti  (b) Arka Nidhi (c) Pant Samrat (d) Arka Navneet
Feragnes, Feraduel, Cristomorto, Philippoceo, Supernova, Fraguilio Grande are the varieties

of fruit.

(a) Walnut (b) Almond (c) Pecan nut (d) Chestnut
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TH YIHSITHR h SFAHA hl HIH &G &l AT &
(a) 3x~3S72  (b) 5x382 (c) 4x[3S82 (d) 6x/3872
uifid shT 37eh! T TRt fehieh sfter TehTuT 7

(a) Tieh Toive wiie x q@T garh (b) T TS Tl x TSI 8

(¢) T TS Tiel x TUeh woivs e (d) JET SARRE x T TS et

Ug Ml & foTe qises et oY Stfvamdar & fagra = ferem wenfya femam o 2

(a) TS TE 3 (1955) (b) Bt T HHT (1971)

(c) 71w rfigrt (1999) (d) fory T ToReIwt (1951)

IT0 WId § AT H) T8 T8l Tehd ool fhET & -

(a) TR (b) T & (c) TS (d) sER eer

HERTE, ToRTd, 3T Hieeh shl =i 1 g fope S 3709 et & Ui, 3TUSThR 9 hH SitaTel
HeAl o foTT ST STt @

(a) Tsrebe sTa (b) B (c) dTAT (d) reft u=tt
SiTehefl o et b YUITH fohT RO A BT R 7

(a) HITHRE It d (b) & HHH T

(c) Tiefyrem 6wt | (d) SR T TRt &

Tt -1 Td g -2 S gHfrd i :
-1 (Fsst) ii-2 (I

A.  TESH 1. ek
B. %adN 2. dihua-1
C. &gd 3. 3T TSTed
D. @& 4.  Ud I
A B C D
@ 1 2 3 4
® 2 4 1 3
¢ 4 3 1 2
@ 2 3 4 1
Tl # fore a8 T WA BIaT 8 7
(a) TE-TETT (b) T&: W-TOT  (c) T-TTAT (d) IT: T-TTOT
T 1 @ S <6 T 3TTeRR hl ST i R 7
(a) WG (b) 37hi [fY (c) U= HHTE (d) 3Thi Fad
W, HUgUd, Theemel, Hiefiafast, o, wifsfa=n me el <hl TSI & |
(a) ITEE (b) STEH (c) depe (d) ==Te
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